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MoABaI 1 IOABAJI 36,1 36,1
2 [o/1BaJI 73,3 73,3
3 IOABAJI 34,2 34,2
4 Ho/iBal 42,4 42,4
5 IOABAJI 35,3 35,3
6 Ho/iBaJ 14,9 14,9
7 IOBaJI 21,3 21,3
8 nojBa 9,9 9,9
9 Ho/(BaI 35,9 35,9
10 [o1BaJI 17,2 17,2
11 OIBAJI 56,0 56,0
13 [oABaJI 6,1 6,1
14 IO IBAJT 57,4 57,4
15 O/IBaI 16,7 16,7
16 OIBAJI 53,8 53,8
17 O/IBaI 34,2 34,2
18 OIBAJI 41,7 41,7
19 [oABaJI 13,2 13,2
20 OIBAJI 38,6 38,6
21 [OABAII 275 27,5
22 IO TBaJT 52,1 52,1
23 [OABAII 31,2 31,2
25 o IBaJI 21,3 21,3
26 o/IBaI 55,4 55,4
27 I 4,8 4,8
28 o/IBaI 35,9 35,9
30 HO/(BAJT 36,9 36,9
31 o/IBaI 4.8 4,8
33 o 1BaJI 26,7 26,7
34 [OoABAII 36,9 36,9
35 HO/(BAJT 53,8 53,8
36 [oABaII 15,0 15,0
37 TIO/IBAJT 35,9 35,9
38 OABAII 21,3 21,3
39 TIO/IBAJT 55,4 55,4
40 [oABaII 34,2 34,2
41 o1BaJI 275 27,5
42 [oABaII 35,3 35,3
HTOro 1250,1 1250,1
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A 1 1 1 JKHJIast 16,8 16,8
2 KyXHsI 9,4 9,4
3 caHy3en 3,7 3,7
4 KOPHAOD 4.2 4,2
HTOro 34,1 16,8 17,3
JIOKUSA 50% 1,9
2 1 Kumas 14,1 14,1
2 KyXHS 19,5 19,5
3 caHy3en 3,6 3,6
4 KOpHUIOp 3,8 3,8
HTOr0 41,0 14,1 26,9
JIOKUS 50% 1,9
3 1 Kumas 16,4 16,4
2 KyXHS 10,7 10,7
3 caysen 3,5 3,5
4 KOPHIO 4,3 43
HTOT0 349 16,4 18,5
JIOJKUS 50% 1,7
4 1 SKHIIast 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPUJIOp 4.4 4.4
HTOro 34,9 17,1 17,8
JIOJKUS 50% 1,7
5 1 JKHIIast 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3en 3,7 3,7
4 KOPHUJIOp 4.4 4.4
HTOIO0 34,8 17,1 17,7
JIOJKUS 50% 1,7
6 1 SKUIast 17,8 17,8
2 KyXHS 9,2 9,2
3 caHy3en 3,8 3,8
4 KOpHIOp 6,9 6,9
UTOrO 37,7 17,8 19,9
JIOIKUS 50% 1,7
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1 7 1 JKHJIast 16,9 16,9
2 KyXHS 9,7 9,7
3 caHy3en 3,8 3,8
4 KOPHIOp 44 4,4
UTOrO 34,8 16,9 17,9
JIOIKUS 50% 1,9
29 1 JKHIIast 17,1 17,1
2 Kuas 11,6 11,6
3 KyXHS 10,2 10,2
4 BaHHAs 2,7 2,7
5 ybopHas 15 1,5
6 KOPHAOD 8,5 8,5
UTOro 51,6 28,7 22,9
JIOJKUS 50% 1,9
30 1 JKUIas 16,9 16,9
2 Kuas 16,1 16,1
3 KyXHS 10,0 10,0
4 BaHHAs 2,7 2,7
5 ybopHast 15 15
6 KOPHIIOp 7,5 7,9
HTOro 54,7 33,0 21,7
JIOJKUS 50% 1,9
31 1 KHas 17,0 17,0
2 KyXHS 10,9 10,9
yX
3 caHy3en 4.4 4.4
4 KOPHAOD 53 53
UTOro 37,6 17,0 20,6
JIOJKUS 50% 1,9
32 1 KUIas 13,9 13,9
2 SKUnast 16,9 16,9
3 KyXHS 25,2 25,2
4 KOpHUIIOP 15,4 15,4
5 caHy3eln 6,3 6,3
6 KJIa10Bast 8,2 8,2
HTOro 85,9 30,8 55,1
JIOIKHS 50% 3,6
JIOKHS 50% 1,6
33 1 KHUITAs 17,2 17,2
2 KyXHS 24,9 249
3 BaaHHas 2,7 2,7
4 y6opHast 15 15
5 KOPHIOp 9,1 9,1
HTOro 55,4 17,2 38,2
JIOJKUS 50% 3,5
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A 1 49 1 JKHJIast 16,8 16,8
2 KyXHsI 9,3 9,3
3 caHy3en 3,7 3,7
4 KOpHJIOp 4,1 4,1
UTOr0 33,9 16,8 17,1
JIOIKUS 50% 1,9
50 1 JKHIIast 16,9 16,9
2 Kuas 16,1 16,1
3 JKHJIast 11,0 11,0
4 KyXHS 11,4 11,4
5 BaaHHas 2,7 2,7
6 ybopHast 15 15
7 KOpHIOp 12,6 12,6
HTOro 72,2 44,0 28,2
JIOJKUS 50% 1,9
JIOKUSA 50% 1,9
51 1 SKHJIast 17,1 17,1
2 JKHJIast 12,4 12,4
3 KyXHS 10,1 10,1
4 BaHHAS 2,7 2,7
5 ybopHas 1,5 15
6 KOPHZOp 8,9 89
UTOro 52,7 29,5 23,2
JIOJKUS 50% 1,9
52 1 JKUIas 17,3 17,3
2 KUast 18,7 18,7
3 KJ1a{oBast 2,6 2,6
4 KUast 10,6 10,6
5 KyXHS 11,1 11,1
6 BaHHAs 2,8 2,8
7 ybopHast 15 15
8 KOPHIOP 10,6 10,6
HTOro 75,2 46,6 28,6
JIOKUS 50% 1,9
53 1 JKHIIast 16,8 16,8
2 KYXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHUJIOp 4.4 4.4
HTOIr0 34,6 16,8 17,8
JIOKUS 50% 1,9
69 1 SKHJIast 16,8 16,8
2 KyXHS 9,6 9,6
3 caHy3en 3,9 3,9
4 KOpHIOp 4,3 4,3
UTOrO 34,6 16,8 17,8
JIOIKUS 50% 1,9
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1 70 1 JKHIIast 18,8 18,8
2 KYXHSI 9,0 9,0
3 caHy3en 3,7 3,7
4 KOpHIOp 4,0 4,0
HTOro 35,5 18,8 16,7
JIOIKUS 50% 1,9
71 1 JKHJIast 17,2 17,2
2 Kuas 11,6 11,6
3 KyXHs 10,2 10,2
4 BaHHAas 2,7 2,7
5 ybopHas 15 1,5
6 KOPHIIOp 8,5 8,5
UTOro 51,7 28,8 22,9
JIOJKUS 50% 1,9
72 1 JKHJIast 17,0 17,0
2 Kumas 12,4 12,4
3 KyXHS 10,1 10,1
4 BaHHAs 2,6 2,6
5 ybopHast 15 15
6 KOpHJIOp 8,9 8,9
HTOro 52,5 29,4 23,1
JIOJKUS 50% 1,9
73 1 JKUIas 16,9 16,9
2 KUast 16,9 16,9
3 KyXHS 9,8 9,8
4 caHy3en 2,8 2,8
5 KOpHIOp 15 15
6 KJ1a10Bast 10,8 10,8
HTOro 58,7 33,8 24,9
JIOIKUS 50% 1,9
TOIKHSA 50% 2,1
92 1 JKuIas 14,0 14,0
2 KOpHIOp 4.8 4.8
3 caysen 3,0 3,0
4 KYXHS 6,1 6,1
5 Tamoyp 3,6 3,6
HTOro 31,5 14,0 17,5
HTOro no 1 aTaxy 1070,5 538,2 532,3
JIOKHH 49,9
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A 2 8 1 JKHJIast 16,8 16,8
2 KyXHsI 9,4 9,4
3 caHy3en 3,8 3,8
4 KOpHUJI0p 4,2 4,2
UTOrO 34,2 16,8 17,4
JIOIKUS 50% 1,9
9 1 JKHJIast 14,1 14,1
2 KyXHS 19,5 19,5
3 caHy3en 3,6 3,6
4 KOPHIIOp 3,7 3,7
HTOro 40,9 14,1 26,8
JIOJKUS 50% 1,9
10 1 JKHJIast 16,4 16,4
2 KyXHS 10,7 10,7
3 caysen 3,4 3,4
4 KOPHJIO 4,3 4,3
HTOro 34,8 16,4 18,4
TIOIKHS 50% 1,7
11 1 JKUIas 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHIOP 4,3 4,3
HTOTO 34,8 17,1 17,7
TIOIKHS 50% 1,7
12 1 JKUIas 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3eln 3,8 3,8
4 KOpHUIIOP 4,4 4,4
UTOro 34,9 17,1 17,8
JIOJKUS 50% 1,7
13 1 JKHIIast 17,8 17,8
2 KYXHS 9,3 9,3
3 caHy3en 3,8 3,8
4 KOPHIOp 6,8 6,8
HTOro 37,7 17,8 19,9
JIOIKUS 50% 1,7
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2 14 1 JKHIIast 16,8 16,8
2 KYXHSI 9,6 9,6
3 caHy3en 3,8 3,8
4 KOpHIOp 4.4 4.4
HUTOTrO 34,6 16,8 17,8
JIOJKUS 50% 1,9
34 1 KHJIast 17,0 17,0
2 JKHJIast 11,6 11,6
3 KyXHS 10,1 10,1
4 BaHHast 2,7 2,7
5 yGopHast 15 15
6 KOPHZOP 8,5 8,5
HTOro 51,4 28,6 22,8
JIOKUSA 50% 1,9
35 1 Kuas 16,9 16,9
2 JKHJIast 16,1 16,1
3 KyXHS 9,9 9,9
4 BaHHast 2,7 2,7
5 ybopHas 1,5 15
6 KOpHIOp 7.8 7,8
HTOro 54,9 33,0 21,9
JIOJKUS 50% 1,9
36 1 KHas 17,0 17,0
2 KUast 11,3 11,3
3 KYXHS 10,2 10,2
4 BaHHAs 2,8 2,8
5 ybopHast 15 15
5 KOPHAOD 8,4 8,4
HTOro 51,2 28,3 22,9
JIOKUSA 50% 1,9
37 1 SKUnast 13,9 13,9
2 KUIas 16,9 16,9
3 KyXHSI 25,3 25,3
4 KOPHZIOp 15,4 15,4
5 caHy3en 6,3 6,3
6 KJ1aji0Bas 8,1 8,1
HTOro 85,9 30,8 55,1
JIOIKHS 50% 3,6
JIOKHS 50% 1,6
38 1 KHUITAs 17,2 17,2
2 KyXHS 24,9 249
3 BaaHHas 2,7 2,7
4 y6opHast 15 15
5 KOPHIOp 9,2 9,2
HTOro 55,5 17,2 38,3
JIOJKHS 50% 3,5
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A 2 54 1 JKHJIast 16,8 16,8
2 KyXHS 9,3 9,3
3 caHy3en 3,8 3,8
4 KOpHIIOp 41 4,1
HUTOTO 34,0 16,8 17,2
JIOJKUS 50% 1,9
55 1 Kuas 16,9 16,9
2 JKHJIast 16,2 16,2
3 Kuas 11,0 11,0
4 KyXHS 11,4 11,4
5 BaaHHas 2,7 2,7
6 ybopHas 15 1,5
7 KOPHAOD 12,6 12,6
HTOro 72,3 44,1 28,2
JIOKUSA 50% 1,9
JIOJKUS 50% 1,9
56 1 JKUIas 17,1 17,1
2 KUast 12,4 12,4
3 KYXHS 10,2 10,2
4 BaHHAs 2,7 2,7
5 ybopHast 15 15
6 KOPHAOD 8,9 8,9
HTOro 52,8 29,5 23,3
JIOKUS 50% 1,9
57 1 KUas 17,3 17,3
2 JKUIas 18,8 18,8
3 KJ1a10Bast 2,6 2,6
4 JKUIas 10,5 10,5
5 KyXHS 11,1 11,1
6 BaHHAas 2,7 2,7
7 y6opHast 15 15
8 KOPHIOP 10,6 10,6
HTOIr0 75,1 46,6 28,5
JIOKUS 50% 1,9
58 1 SKUnast 16,8 16,8
- - 2 KYXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHUJIOp 4.4 4.4
UTOro 34,6 16,8 17,8
JIOJUKHS 50% 1,9
74 1 Kuas 16,8 16,8
2 KyXHS 9,6 9,6
3 caHy3emn 3,7 3,7
4 KOpHUIOp 4,3 4,3
UTOrO 34,4 16,8 17,6
- - JIOIKUS 50% 1,9
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2 75 1 JKHJIast 18,9 18,9
2 KyXHS 9,1 9,1
3 caHy3en 3,7 3,7
4 KOpHJIOp 4,0 4,0
UTOrO 35,7 18,9 16,8
JIOIKUS 50% 1,9
76 1 JKHJIast 17,1 17,1
2 Kuas 11,6 11,6
3 KyXHs 10,1 10,1
4 BaHHAs 2,7 2,7
5 ybopHas 15 1,5
6 KOPHIIOp 8,5 8,5
HTOro 51,5 28,7 22,8
JIOJKUS 50% 1,9
77 1 JKHJIast 17,1 17,1
2 Kuas 12,4 12,4
3 KYXHS 10,2 10,2
4 BaHHAs 2,6 2,6
5 ybopHast 15 15
6 KOpHJIOp 8,9 8,9
UTOro 52,7 29,5 23,2
JIOJKUS 50% 1,9
78 1 JKHJIast 17,0 17,0
2 KUast 16,1 16,1
3 KyXHSI 10,0 10,0
4 caHy3en 2,7 2,7
5 KOpHIOp 15 15
6 KJIa10Bast 8,1 8,1
HTOro 55,4 33,1 22,3
JIOIKHS 50% 2,1
79 1 SKUnast 16,8 16,8
2 KYXHS 9,2 9,2
3 caysen 3,8 3,8
4 KOPHJIOp 4.4 4.4
. uTOro 34,2 16,8 17,4
JIOIKUS 50% 1,9
HTOTO MO 2 ITAKY 1083,5 551,6 531,9
JIOKHH 49,9
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A 3 15 1 JKHJIast 16,8 16,8
2 KYXHsI 9,3 9,3
3 caHy3en 3,8 3,8
4 KOpHUJI0p 4,1 4,1
UTOrO 34,0 16,8 17,2
JIOIKUS 50% 1,9
16 1 JKHJIast 14,0 14,0
2 KyXHS 19,5 19,5
3 caHy3en 3,6 3,6
4 KOpHIOP 3,8 3,8
HTOro 40,9 14 26,9
JIOJKUS 50% 1,9
17 1 JKHJIast 16,4 16,4
2 KyXHS 10,7 10,7
3 caysen 34 34
4 KOPHJIO 4,3 4,3
HTOro 34,8 16,4 18,4
TIOIKHS 50% 1,7
18 1 JKHJIast 17,0 17,0
2 KyXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHIOP 4,3 4,3
HTOro 34,7 17,0 17,7
TIOIKHS 50% 1,7
19 1 JKUIas 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3eln 3,8 3,8
4 KOpHUIIOP 4.4 4,4
UTOro 34,9 17,1 17,8
JIOJKUS 50% 1,7
20 1 SKUIast 17,8 17,8
- - 2 KYXHS 9,3 9,3
3 caHy3en 3,8 3,8
4 KOpHIOp 6,8 6,8
UTOrO 37,7 17,8 19,9
JIOIKUS 50% 1,7
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3 21 1 JKHJIast 16,9 16,9
2 KyXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHIOp 44 4,4
UTOro 34,7 16,9 17,8
JIOIKUS 50% 1,9
39 1 JKUIas 17,1 17,1
2 Kuas 11,7 11,7
3 KyXHS 10,2 10,2
4 BaHHast 2,7 2,7
5 ybopHas 15 1,5
6 KOpHUJI0p 8,6 8,6
HTOro 51,8 28,8 23
JIOJKUS 50% 1,9
40 1 JKHJIast 17,1 17,1
2 Kuast 16,1 16,1
3 KyXHS 10,0 10,0
4 BaHHast 2,7 2,7
5 ybopHast 15 15
6 KOpHIOp 7.9 7,9
HTOro 55,3 33,2 22,1
JIOKUSA 50% 1,9
41 1 KHTAsT 17,0 17,0
2 KHas 11,3 11,3
3 KYXHS 10,2 10,2
4 BaHHAs 2,8 2,8
5 y6opHas 15 1,5
5 KOPHIOP 8,4 8,4
UTOro 51,2 28,3 22,9
JIOJKHS 50% 19
42 1 KUIas 13,9 13,9
2 KuJIas 17,0 17,0
3 KyXHS 25,3 25,3
4 KOPHIOP 15,2 15,2
5 caHy3eln 6,3 6,3
6 KJIa10Bast 8,2 8,2
HTOro 85,9 30,9 55,0
JIOIKHS 50% 3,6
JIOJKAS 50% 1,6
43 1 KUas 17,1 17,1
2 KyXHS 24,9 24,9
3 BaaHHas 2,7 2,7
4 yOopHast 15 1,5
5 KOPHAOP 9,2 9,2
HTOI0 55,4 17,1 38,3
JIOJKHS 50% 3,5
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AT 3 ] 59 | 1 KHIas 16,8 16,8
2 KyXHsI 9,3 9,3
3 caHy3en 3,8 3,8
4 KOpHJIOp 4,1 4,1
UTOrO 34,0 16,8 17,2
JIOIKUS 50% 1,9
60 1 JKUIas 16,8 16,8
2 Kuas 16,1 16,1
3 JKHJIast 11,0 11,0
4 KyXHs 11,4 11,4
5 BaaHHas 2,7 2,7
6 ybopHast 15 15
7 KOpHIOp 12,6 12,6
HTOro 72,1 43,9 28,2
JIOJKUS 50% 1,9
JIOKUSA 50% 1,9
61 1 KUast 17,0 17,0
2 JKuas 12,4 12,4
3 KyXHS 10,1 10,1
4 BaHHAS 2,7 2,7
5 ybopHas 1,5 15
6 KOPHIOP 9,0 9,0
HTOro 52,7 29,4 23,3
JIOJKUS 50% 1,9
62 1 JKUIas 17,2 17,2
2 KUast 18,8 18,8
3 KJ1aj{oBast 2,6 2,6
4 KUas 10,5 10,5
5 KyXHs 11,2 11,2
6 BaHHAast 2,7 2,7
7 ybopHast 15 15
8 KOPHIOP 10,6 10,6
HTOIr0 75,1 46,5 28,6
JIOKUS 50% 1,9
63 1 JKHIIast 16,8 16,8
:: _:_ | | 2 KYXHS 9,6 9,6
3 caHy3en 3,8 3,8
4 KOPHUJIOp 4.4 4.4
UTOro 34,6 16,8 17,8
JIOJUKHS 50% 1,9
80 1 KUas 16,8 16,8
2 KyXHS 9,6 9,6
:: | : | | 3 caHyseln 3,7 3,7
| | | 4 KOpHI0p 43 23
T | uToro 34.4 16,8 176
- | - | | JIOKUSA 50% 1,9
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3 81 1 JKHJIast 18,8 18,8
2 KYXHSI 9,0 9,0
3 caHy3en 3,7 3,7
4 KOpHIOp 3,7 3,7
HTOro 35,2 18,8 16,4
JIOIKUS 50% 1,9
82 1 JKHJIast 17,0 17,0
2 Kuas 11,6 11,6
3 KyXHs 10,1 10,1
4 BaHHAas 2,7 2,7
5 ybopHas 15 1,5
6 KOPHIIOp 8,5 8,5
UTOro 51,4 28,6 22,8
JIOJKUS 50% 1,9
83 1 JKUIas 17,1 17,1
2 KUast 12,4 12,4
3 KYXHSI 10,2 10,2
4 BaHHAs 2,6 2,6
5 ybopHast 15 15
6 KOpHUJIOp 8,9 8,9
HTOro 52,7 29,5 23,2
JIOJKUS 50% 1,9
84 1 JKUIas 17,0 17,0
2 KUast 16,1 16,1
3 KyXHSI 10,0 10,0
4 caHy3en 2,7 2,7
5 KOpHIOp 15 15
6 KJIa10Bast 8,1 8,1
UTOro 55,4 33,1 22,3
JIOIKHS 50% 2,1
85 1 SKUnast 16,8 16,8
2 KYXHS 9,2 9,2
3 caysen 3,8 3,8
o - 4 KOpUI0p 4.4 4.4
I |
| | | HTOI0 34,2 16,8 17,4
I |
| | | JIOIKUS 50% 1,9
I |
HTOTrO N0 3 ITAXKY 1083,1 551,3 531,8
JIOKHH 49,9
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A 4 22 1 JKHJIast 16,8 16,8
2 KYXHsI 9,3 9,3
3 caHy3en 3,8 3,8
4 KOPHAOD 4,0 4,0
UTOrO 33,9 16,8 17,1
JIOIKUS 50% 1,9
23 1 JKHJIast 14,1 14,1
2 KyXHS 19,5 19,5
3 caHy3en 3,6 3,6
4 KOpHIOp 3,8 3,8
HTOro 41,0 14,1 26,9
JIOJKUS 50% 1,9
24 1 JKUIas 16,3 16,3
2 KyXHS 10,7 10,7
3 caysen 3,4 3,4
4 KOPHJIO 4,3 4,3
HTOTO 34,7 16,3 18,4
TIOIKHS 50% 1,7
25 1 JKUIas 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3el 3,8 3,8
4 KOPHZIOP 4,4 4,4
UTOro 34,9 17,1 17,8
TIOIKHS 50% 1,7
26 1 JKuas 17,1 17,1
2 KyXHS 9,6 9,6
3 caHy3eln 3,8 3,8
4 KOPHIOp 4,4 4,4
T | HTOr0 34,9 17,1 17,8
I |
JIOJKUS 50% 1,7
T T 271 KHTas 17,7 17,7
- | - | | 2 KYXHS 9,3 9,3
- | - | | 3 caHy3en 3,8 3,8
T | 4 KOPHI0p 6,8 6,8
UTOr0 37,6 17,7 19,9
JIOIKUS 50% 1,7
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4 28 1 JKHIIast 16,8 16,8
2 KyXHsl 9,6 9,6
3 canysein 3,8 3,8
4 KOPHIOp 4.4 4,4
UTOro 34,6 16,8 17,8
JIOJKUSA 50% 1,9
44 1 JKHJIast 17,1 17,1
2 JKHIIast 11,7 11,7
3 KyXHS 10,2 10,2
4 BaHHAas 2,7 2,7
5 yGopHast 15 15
6 KOPHUIIOP 8,5 8,5
HTOr0 51,7 28,8 22,9
JIOKUSA 50% 1,9
45 1 Kuas 17,0 17,0
2 JKHJIast 16,1 16,1
3 KyXHS 10,0 10,0
4 BaHHas 2,7 2,7
5 y6opHast 15 15
6 KOpHIOp 79 79
UTOro 55,2 33,1 22,1
JIOJKUS 50% 1,9
46 1 JKUIas 17,2 17,2
2 KHTAsT 11,4 11,4
3 KyXHSI 10,3 10,3
4 BaHHAs 2,7 2,7
5 ybopHast 15 15
5 KOPHIOP 8,4 8,4
HTOro 51,5 28,6 22,9
JIOIKUSA 50% 1,9
47 1 JKUITas 14,0 14
2 JKHJIast 17,0 17,0
- - 3 KyXHSI 25,3 25,3
4 KOPHZIOp 15,2 15,2
5 caHy3en 6,3 6,3
6 KJ1aji0Bas 8,2 8,2
o - HTOro 86,0 31,0 55,0
JIOIKHS 50% 3,6
JIOJKAS 50% 1,6
48 1 JKuIas 17,2 17,2
2 KyXHS 24,9 24,9
3 BaaHHas 2,7 2,7
4 ybopHast 15 15
5 KOPHIOp 9,1 9,1
HTOTO0 55,4 17,2 38,2
JIOJKUS 50% 3,5
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Al o4 e s 16,8 16,8
2 KyXHSI 9,3 9,3
3 caHy3en 3,8 3,8
4 KOpHIIOp 4,0 4,0
HTOTrO 33,9 16,8 17,1
JIOJKUSA 50% 1,9
65 1 Kuas 16,9 16,9
2 JKHJIast 16,1 16,1
3 Kuas 11,0 11,0
4 KyXHS 11,4 114
5 BaaHHas 2,7 2,7
6 ybopHas 15 1,5
7 KOPHAOD 12,6 12,6
UTOro 72,2 44,0 28,2
JIOKUSA 50% 1,9
JIOJKUS 50% 1,9
66 1 JKHUITAs 17,1 17,1
2 KUas 12,4 12,4
3 KYXHS 10,1 10,1
4 BaHHAs 2,7 2,7
5 ybopHast 15 15
6 KOPHAOD 8,9 8,9
HTOro 52,7 29,5 23,2
JIOKUS 50% 1,9
67 1 KUast 17,3 17,3
2 KUIas 18,8 18,8
3 KJ1a10Bast 2,6 2,6
4 KUIas 10,5 10,5
5 KyXHS 11,1 11,1
6 BaHHAas 2,7 2,7
7 ybopHas 1,5 15
8 KOPHIOP 10,6 10,6
UTOro 75,1 46,6 28,5
o | - | | JIOJKUS 50% 1,9
68 1 KUIas 16,8 16,8
:: | : | | 2 KyXHS 9,6 9,6
3 caHy3eln 3,8 3,8
4 KOPHIOp 4,4 4,4
HTOro 34,6 16,8 17,8
- | - | | JIOKUS 50% 1,9
86 1 SKHJIast 16,8 16,8
:: | : | | 2 KyXHsl 9,6 9,6
o | 3 | | 3 caHy3en 3,8 3,8
I | | 4 KOpHJIOp 4,4 4.4
N | HTOrO 34,6 16,8 17,8
- | . | | TIOJKUS 50% 1,9




IKCIVNIMKALINUA

K M03TAKHOMY ILIaHY KMJIOT0 A0MAa, PACIIOJI0KEHHOT0 B rop. (moc.)  SpociaBib

1o yJ.(mep.)_B paiioHe yJ. Xyropckoi (crpoenne Nel)

.z : = o2 E :§ ‘E . : E Il1omans Mo BHyTPpeHHEMY 06Mepy B KB. Toprooe E .
___mﬁ__E'_AEE( >,§ g;ag 52? M. %E
Sl e & = = = =
HEEEEFIEE - S:=2z 2 = R Sz
S E|s=E|l3 &= = S =g 8F =S E¢2 g g s = s = s &g
SSEcE|2EE|e® EEEge s 582 g g = - 5| 8 £ g E o2
< gl =2 Rl S E|E = ¥ 2 8 ¢ E}c[‘e g3 = S&% z | ] ﬂ?e
= o S w|l E &l = = 5 B = 5 E Z g = = O e S s = [
sE|lf235|a |28 Z 5 = = = e 5 g = g =% £ z £ &
= = o z 8 S m 2 S 2 I = S e = S o
=z 2 X -9 < 5 Z & S = = = (@] 5 Z E
m = 5 = = Z =] 2 = 2 2
4 87 1 JKHJIast 18,9 18,9

2 KyXHS 9,0 9,0
3 caHy3en 3,8 3,8
4 KOpHIIOp 3,9 3,9
HTOro 35,6 18,9 16,7
JIOJKUS 50% 1,9
88 1 KHJIast 17,1 17,1
2 JKHJIast 11,6 11,6
3 KyXHsI 10,2 10,2
4 BaHHas 2,7 2,7
5 ybopHas 1,5 15
6 KOpHIOp 8,5 8,5
HTOT0 51,6 28,7 22,9
JIOKUSA 50% 1,9
89 1 Kuas 171 17,1
2 JKHJIast 12,4 12,4
3 KyXHS 10,2 10,2
4 BaHHAs 2,6 2,6
5 y6opHast 15 15
6 KOpHIOp 8,9 8,9
HTOro 52,7 29,5 23,2
JIOJKUS 50% 1,9
90 1 KUIas 16,9 16,9
2 KUast 16,1 16,1
3 KYXHSI 10,0 10,0
4 caHy3en 2,8 2,8
5 KOpHIOp 15 15
6 KJ1a10Bast 8,1 8,1
HTOro 55,4 33,0 22,4
TOIKHSA 50% 2,1
91 1 KUIas 16,9 16,9
2 KyXHS 9,3 9,3
o | - | | 3 caysein 3,8 3,8
T | 4 KOPHJIOP 43 43
| [ HTOTO 34,3 16,9 174
- | - | | JIOIKUS 50% 1,9
HUTOrO0 10 4 ITAKY 1084,1 552,1 532,0
JIOJGKUH 49,9
HTOIO 10 10MY 4321,2 2193,2 2128,0
JIOMKHHU 199,6
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